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5100 SYHEORQIB NI RY N 12,030,698 12,279,767 ~249,069 13.4"4100 SYUSOROBNZREY 10,994,227 11,424,711 -430.484| 122
5200 2ZES2Z et =7 NH 41,080,089 43,178,969 -2,098,880 45.6"4200 2ESoZoeti=s7EN 41,495,710 43,849,646 -2,353,936 46.1
5300 SYHEORQIB NI RY N 152 167 15| o.0uso0 egEsczosaaREY 5,068,543 5,175,670 1071271 56
5400 2 ES2Z et =7 NH 449,560 506,060 -56,500 0.5[4300 2g&s2Zletiis7EH 1,182,589 1,544,868 -362,279 1.3
5600 SHBHEORQIB NI RY N 7,501,674 7,713,757 -212,083|  8.fl400 2YES OB RE 500,000 500,000 of 06
2200 HREsCZoetli=amed N 50,000 10,000 40,000 0.1|{4600 oildI ] 600,000 600,000 0 0.7
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90,097,299 91,969,015 -1,871,716
So=Z0IstN2= 12,030,698 12,279,767 -249,069
ASEEARRATS R AN 7,785,323 7,693,746 91,577
5111 At AR 0] 100,000 100,002 -2
5112 A XA P00 (AEHE ) 3,125,500 3,439,564 -314,064
5113 ARl (JEg ™) 4,559,823 4,154,180 405,643
HEHAA NS RUNH 1,056,950 1,248,328 -191,378
5121 2949 1,056,950 1,248,328 -191,378
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5510 J1=2| Xt2 28,985,126 28,280,295 704,831
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HE L= =2t0H
o = = Ol &FOH (A) HET of & (B) (A - B)
4611 0lldl gl 600,000 600,000 0
1200 ENEESORQSH NS REN 3,002,528 3,230,413 -227,885
1210 EXXH AKX & 150,000 450,000 -300,000
1213 ENSAENKE 150,000 450,000 -300,000
1220 JIEtHI R S kA = 30,000 30,000 0
1225 £33 K& 30,000 30,000 0
1230 REXAFSKIE 2,378,528 2,212,053 166,475
1234 JIHD125 S 2,157,028 1,944,553 212,475
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2210 S0 2| At = 30,000 40,000 —-10,000
2211 JdUHEE3 L4 30,000 40,000 —-10,000
4700 J1Z 2l Xt=3 27,223,702 25,603,707 1,619,995
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